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k ok ok ok ok ok ok FAAMA ok k ok k k k k
TBEX4 Bif p-gid &t HHF

1 ZH 745 760 1,505 636

2 &/ R 478 505 983 364

3 fit 471 520 991 416

4 B 124 139 263 109

5 {814 832 823 1,655 717

6 & 137 157 294 119

7 hB 31 41 72 41

8 JLHE/\fE 340 379 719 326

9 EHE/N\E 456 499 955 448
10 HEH 366 430 796 358
11EH 148 159 307 124
12 /& 378 415 793 343
13 B# 295 330 625 264
14 7 984 1,113 2,097 914
15 201 230 431 175
16 272 270 542 272
17 @ik 132 147 279 111
18 LA 264 311 575 256
19 28 172 187 359 149
20 #AHA 136 155 291 126
21 BIH 315 341 656 246
22 h A {RH 220 233 453 189
23 e \E—TH 621 676 1,297 501
24 txANE-TH 473 500 973 370
25 AAE=TH 619 725 1,344 533
26 xAEMTH 641 723 1,364 533
27 TZRAO—7 227 246 473 160
28 #/E(I) 7 20 27 23
29 f/E(T) 3 17 20 20
30 Bf#x 22 2 24 24
31 E—TH 1 0 1 1
32 "ﬁ:TE 31 37 68 40
33NXE=TH 0 0 0 0
4 XEMTH 697 748 1,445 591
35 XERHTH 379 413 792 307
36 FEBEARTH 798 900 1,698 599
37 £E5tTH 739 791 1,530 613
38 XH/NTH 707 782 1,489 531
39 XENTH 435 430 865 269
41 HEAE—TH 742 689 1,431 644
51 $§ES—TH 596 571 1,167 368
52 ES_-TH 519 545 1,064 345
53 BES=TH 585 672 1,257 437
54 FESMTH 761 800 1,561 492
55 BESATH 565 581 1,146 335
56 FEES/NTH 0 0 0 0
57 ¥§ES+tTH 0 0 0 0
58 faES/\TH 0 0 0 0
50 BEASALTH 0 0 0 0
60 BES—THI/* 150 180 330 127
61 FERB-THAVI R 103 112 215 83
62 7X-T=wia, O3—} 152 177 329 118

¥ & B X 18,070 19,481 37,551 14,767



